[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

0
15

Ratio

1

1072 10 1 10 0?
TP vertr (cr%)

MKEI_TT1original

mkFit_ TTNEWHS-improved
mkFit_TToriginal-101

mkFit TTNEWHSMS-improved

<4

DQ
DQ
Efficiend —— B3

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
%

0.8

Ratio

0.6f : -tk it ;
-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

10

..................................

L

................................

v

Ratio

t
A
.

L B
n
.

o
o

10 15 20
Sim. PV z (cm)

I
o
I
o1
o
o1



	Contents
	Page 1


